0 g o
- < ol M| S
< 4 S X Q= A
< W Ol H | o2 e
< £ ¢ -
= = lm = v A
T W< SER A S
2 o by < < <
£ O =z sSx 22 A S et
< C ¢& 2 S|l 3 m < = =
s w =z > 3la < 3 A
I 5 o u| 2 SEEIEE s < < |E
2 0 3 JR = wZ 1ER R <A ) <
> £ § E / | |z & y; 2 - = -
S »5u = OF glhes 2| A = |z
I 29w o J ell28 . o = >
= d< zZ N/ =S x| A
g wyie 2 N S < 2| S 4 = > 2
< Wi i - NO S| =
>ZnWNAaXx = =
cEcwzy> = ya @ X¥e= Qlw = ol A A A
5000 & / 4 szl 2| & =| a2 %
W < $ °
Souwz c =& = Zl2 & M
93hS2 < == HE = |5l 82 2 2
z C ]
: A <zghn ] de S| 25| E A
=TO _ W
X
« = ® : | A3 |E| S| & |2 2
s u £ Sswdd ¢ 3z = < o ® =
o = N ZEQ> N a ~ = m R Z
E< 5650zZ < \ <O =] o = N>
= < 5 s o<y £ \ = A= = S
= C Tvowl S \ o = o = = < <
7 I B ¥XTFI2 \ e Az 4 @ —
W W T [ \ o
S I = §X55h = \© 3 ‘i zE |E| 25| E B S
> X N> £ \ = A fomt <
[ \ o =5
S 3338 > 22825 * \ 5 27 3 |B| 22| = |E %
= EZESE puUSzE 2 z 8 = <| =Z a =
SE- e > S252% 3 ) 5 :: S S WS | E |27
= oO=_-<c¢c 10} / <} A =
0gw X<~ = / =& = M M = Z B
<W¥s = TEIN, < / o L = O = —
28ud Sipdp g /@ Fu = 7 = = 2 | < E
EXQ3 SZaW> / = = A
IS5 z ISZUWE & 7 e W e Al = = < o s
<=p< w WN H_IWM.M (e} ci T .. = H = - e
fZez =125 zEQiT 1 3 m =5 z = W Z = »
|38y £c320 © % | e& S Z = = s
51925 55250 2 2 | 539 3|8 =h= <
= TZZ I — ! © 1
o ZEZgzazidse = \_“ 832 = 3 Z o | E
= i 2|2 =
SIZEE p050ear 2 / 35F z 2 NE | E
WMMHM cu<z<do 4 @.\ M._I.N Z W < o
NE¥$4s o535o¢F 2 / SNS E =
~«L<dOF dX¥o@kF<YRNWG < \.@ WZ—)_ m < M
N] o)
O :im 2l | E o=
ES= S|z &
o' 3a 5 < <
s =
Ne] X & [a)
2 3<C g =
S50 -
- Q3 4
(o} Qlz 54|
W,m._u ANn Z m o z & m =
>IT < Z|E|FC AMn = 2z ° 3 o2
21 as o E < = =3 g e
alal ®= ® = 53 H 2 =
S|2 & = =)
= A~ O
8 000'079+9:0X ZOVAL
2 oo £90°599 | E£15'$99 uze 000°0T9
8
o
o I\
g S 8
< B N S A
O o
n xRS e
(o] ; : : "£99:°rh : :
R LN W S— LLSP99 DA ECTBBSHIOX] 619409 | 690099 122 000°065
T o \VAVZ H
— INA 2
N TvS 799 MA 0ZE 985+9:0X o
STG$99: A TS P85+9:0X S
o~
T 0T 6€¥99 | 68£'€99 oLz 000°0£S
o
o
S
o~
s 160099 | /b5'€99 692 000°05S
H 1= —
H oS ™~
3 &
H ol
1 348
4coT Roee 558'€99 | S0£'€99 892 000°0€S
nu m
] S
uu o~
e W £19'€99 | £90°€99 192 000°0TS
H O o
S 5 R
809 : B + 3
© R o H . : : >
RAE SoeT 550 S9p'€99 | ST6'299 06.L se8l6r | o 5
I A : 98£°£99: A T0E T6v+9:0X 3
=« VAV ~
% _><> ™ —
W 2££°£99:"hA £16'685+9:0X . > .
7 207 pOE€99: MA o765 g8y +giOX| o e c09 | 8647C99 99¢ - 000°58%
(e}
: . - : =
T T 862°€99 | 8b/799 06V ULy )
~
g
A 56T 152°€99 | 169299 59z 000°09% 32
S 8lg
= S —
. . : &
T s €61°€99 | £49'299 06v 80681 o
m <
3
o
o . cOC* .
Sam g T €61°€99 | £85°799 92 000'SER
BN g =
o - o
LN . 680°£99: A S5/ bTh+9:0X %
el 7
% i : . . .
W 995T | ¢ onie 620°€00MA ST Egproiox| OP0EST | 06r e £ 000°0cy
] 290°£99:"hA 929" TZh+9:0X
H o
: S
H o
H o~
o
g
e Tz 18£'299 | 1€2'299 (474 000°00% H
] S
nu N
@
e / W 115299 | 196'799 68L — Z8T'6LE @
i © L
. . © .
et / o €679 | €£8'199 68V = 8bE'TLE ®
H . o
: . . © : 0
7T o peez99 | 82199 68V N ST5'59€ 3
P o
S
i
T 577 861299 | 859799 192 000'SS€
o
H S
89T : $00799 | +Sb'199 092 000°0E 22
2\
3 3
S
o~
/T e Sp2'T99 | S6T'T99 652 000°0Z€
8
S
N o
R
/7T R S8y'199 | G£6°099 857 000°00€ H
£ ~ s
— e
%
T 577 092'199 | 012099 88L 529'782
~
= : 186'099 | T€4°099 88v T€0'19¢ &
Svo 0851  00T¢ o
[T H 2
The N/ 9¥8'099:"MA 6£9°0GZ+9:0X =
@ JJAAN T¢8'099:"MA €26°/HC+9:0X
N £18°0997MA 907" SHT+9:0X
9bT 07 0£8°099 | 082°099 88v LEV'65T <
< o
< [%e}
4:. o~
i
p— T £98'099 | €£1£°099 (52 000'52Z
o
E
T T 868099 | 8v€099 957 000°0TZ
2| gl
o [sg}
o oD
S 1 83
X Q>
8
2 : . :
= 77 bb6'099 | +6£°099 55z 000°061
[a]
o
o
S
o~
e cie7 066'099 | 0vb'099 Sz 000°0ZT
o
o
o
EEES S10°799:"hA S
n'To O n
e \ TS0'65T+9:0X &
TrHdJd L11°799: thA
N GEETSTHoOX| TST'T99 | T09°099 €5z 000°0ST
W
> S8€'199: A
- YV ET9EPT+9TOX 8 Sy
g5 S I/
G =0 A
L N <
TS Lh2199 | 261199 474 000°0€T
THJd §5£°199: A
Q) £€¢592T+9:0X
W 8
] S
: N
=3 %
=) 3
SR ¥8K'T “799:"
RN YA\ S SOETOOMAL cecorog | 877009 152 000°0TT
NS \V 5 ee0°C LEY"60T+9:0X " o
LR 3 £10°T99: A ~ =
g e T8Z'C0T+9:0X — + 0
W : . . . :
A ST Uo7z /g 095 k| 806099 | 85£1099 /81 — 86 | o s
’ 601°G60+9:0X 3 ~
99T ’ 7 928'099 | 9/2°099 £8V - 625°06 @
. . ~ . =
95T 577 £5£°099 | £02°099 L8 T1€°€8 o
A
[32]
SR WA - 819099 | 890099 052 000°0Z Sy
H S ==
: < i IN
i 3 8 o
H o
H I ~
) =
9S'T . . .
@ TF: =57 91p'099 | 998'659 6vC 000°0S
o H
S oo 8
853 S
The
T+ \ TST'099:"MA €T8°€€0+9:0X ) ) )
< BT | SET099 A EeT0c0Toiox|  €67099 | €v9°659 8z 000°0€
W TOT'099" MA $S5'920+9:0X
o
o
S
o~
Ject 65659 | Sb0'659 e 000°0T
o
3 8
S +
O
6/6'859 | 674859 9z 000°066
oo\
™ =\
0 o\
% ER
B
21y'859 | 2987459 98L L5146 i
(e}
~N
1B
i
o~
- 00T 8b/'£59 | 861459 124 000°056
m % O F
B®3 3
NN —co - - N
T 9pE /59" MA /b6 9E6+5:0X
Qg SC7 /59T MA €55 €€6+5-0X . . . ©
N TS BT OrETe o] 090459 | 075959 98v 216'626 @
b
o
£90'959 | £15°559 bz 000°076
g
R +
~N L
<
£86'vS9 | E£€4'bS9 581V £57'888 g
[ee]
N
o~
g
€L0'v59 | £25°€59 %4 000°0£8
o
n
9
LN
6v2'€59 | 669259 58V v8p'€S8 @
[ce]
A
&
= 82e'7s9 | 244159 e 000'S€8
g8 g @
n RS % N
TS =
e} 589'759:"hA 80T 'ZZ8+5:0X - N
~ . . . ~
N o Torha oz Tzarciox| G579 | 86059 s8v S1.'818 3
T09°159:"A bHE 0¢8+5:0X ©
o~
~
&
- o
o
(<o)
889°059 | 8£1°059 1424 000008 |+
o
o N
< o
o S
I Q
=
5T Eere 06L'6v9 | 0vT'6v9 ove ~ 000°08Z
3 e}
=
o . . - . & S
g e s 0TE'6v9 | 092849 b8V 87€°69L g -
oIS
0 © o vl
TN £08:8v9: A 02T°85/+6:0X o
Trw 6/8BYOTMA 124 GGG 10X —
= 0EGRYO" MA £28°¢G/+5°0X
W * . . .
e 19589 | T18'/b9 62 - 000°05Z
[32]
- ™
¥89'/v9 | vET'LY9 £8v 899'8£ @
S
g
T ceoT herd 895°9Y9 | 810'9%9 8¢z 000°02Z .
[}
2 o,
— P | =
o
158'5b9 | T0£'5H9 z81=v 800804 | _ 2
o ~
- ~
o +
] L
vLLvye | vTevbo L£2 000°069
o
o
S 0 m 8
s8R 866°€49: A &
eSSV 910'ZZ9+5-0X
ol R ¥89'£59: A 858'0/9+5:0X . . .
S o 0o T 5e07 8b9'cv9 | 860°€r9 9T 000°0£9
N 3 \/ S/ ep9i A
: 00L $99+5:0X 3
S
o~
G5 oorz SOT'ER9 | SSSTHO sz 000°059
[32]
} €759 | €0TTH9 18V 800°9€9 o &
2097 15T 2 ©
- °
o
3
T Yk 6vETH9 | 664 THO ez 000°029
g 8
S =0 S
N2 ~ (=
TS 3
THEw \WA G L16'T¥9" MA $18°209+5:0X . . :
3 J/AaN T96T \ =107 SERTHOTMA 000°000+G:0X] o0 (VO | S8 234 000009 -+
b TELTH9 A 98T Z65+570X o
o
o
S
o~
S0/ XEis 920'T¥9 | 9/b'0v9 z€e 000°08S
; w 2%
i
& o
_ - - _ 218
35T N T£0¥9 | T28'6€9 0812V 800495 < @
o 38 o
m o "v m
SR . Yoo = o
n3e Oaal o, 00T< 68669 | 676669 6LV 110755 S
L \mJ/\ \ - SBL6E9" MA b7 6V5+5:0X =
m /(m\\/ \ £69°6£9: MA 20£'GPS+G:0X N o o
1 s . . = . d
T / 0T SvCEEo A 080 Thereox| 9P €9 | 9968€9 8L1ZV 5 910°0vS S -
: . . S . ~
ot / o S0v'6€9 | G58'8€9 Ly = T20'bES AT _W
H . : = i1 : DAL (2 2
775 YiEs 67659 | Gb/'8€9 9L1=V = £20'82S A% | 2 >—]
3 ] ) o . 2 | N
S 95T / Y S8T'6£9 | S£9'8€9 SLV 2 ££0'72S . >
BN S . . - w . S X
L rT\ et » 50659 | S75'8€9 bLIZY 3 6£0°9TS < >—
=d SZ0'6£9T MA OTE E1S+G:OX . . S . 0
S bOLT 55 668597 MA Zho0TGTgiox| OLO8E9 | 6CrEEd ey S croots - ;
W ¥96'8£9" MA 892905 +5:0X : . - S . =] S o
65T 577 ¥96'8€9 | +Tb'89 2=y S 9WOH0s | Q g >—
. . S . + hy
/ST T ¥96'859 | +Tb'89 v S w08t | R S
. : - S . S Q
e 7757 ¥96'8€9 | +Tb'89 0LL=V S Sb0'Z6 S c—]
5 (e}
7T 7757 ¥96'8€9 | +Tb'89 69V S Sb0'98% . ©
. . - © . =) 2]
05T o v96'8€9 | +1b'8€9 8915V S Lb0°08 g%
. . S . ™
55T 5577 v96'8€9 | +1b'8€9 L9V S SbO'bLy . ©
. . %] . S O
6o 77 v96'8€9 | +1b'8€9 99V 5 S$b0'89% g S -
T Vedcs ¥96'8€9 | +Tb'89 oV S Sb0'Z9 de | < ©
. . &) . Sl | < X
/T ke ¥96'8€9 | +Tb'89 YoV S Sb0°95 85 |82
. . S . S| 0
/T e ¥96'8€9 | +Tb'89 €9V S 850°05k R | ©
. . S . S o
oI/ G977 v96'8€9 | +1b'8€9 2oV = 150'bbb I e
. . N . —
T e v96'8€9 | +1b'8€9 oV = £50'8E . ©
. . w . S ot
ST 577 v96'8€9 | +1b'8€9 09V % £90°2Ek o e—
. . ) . (o))
ST/ G977 ¥96'8€9 | +Tb'8€9 65V % 690°92 . )
. . s . S Q
T e ¥96'8€9 | +Tb'89 8sv % 9£0°02 g |
o 7 N
o . ‘o .
= /T T v96'8€9 | +1b'8€9 LSV = 280'bTH )
R pS9'T ¥ ) ©
B e — v96'8€9 | +1b'8€9 95V = 880°80% @ —
LT )/\ e ¥968€9: MA ZZZ 90%+5:0X & 8 g ~E
Thw . PE6'8E0: A $60°20p+5:0X . . s : =
= T e £66'859 | £8£'8€9 Ssv = ¥60'20b g}
© > aca: th . . & + o X
3 \_: T8'8£9: A TTH'/6€+5:0X . . o . I = <+
p— / oot 108'859 | /57'8g9 bSV S 00T'96€ £ LB
. . S . 92]
T / s 6v9'8€9 | 660'8€9 €5V S £0T°06€ 3 9
. . <o . o A |
53T Vg 16v'8€9 | Tv6'2€9 v 90T '¥8E 5 O]
H 1= A\
3 < O\
o~ O\CY
— NS | |
3 (=)
. - /1869 | S79'/€9 15V 90T°2LE o\" |5 H—
2691 18hCC R ~
: =}
E S
m E = 7 ol
) O ™ a.. . . = . - |
2 §3 e / TR 098269 | o1esg9 0§12V 5 90T°09€ g2
Mo % 3 o))
I : . . O .
—d £99T | ivIc7 WOIZEoThATeTbGETEeX| CO44E9 | CaTeEs ovy S 6oTwst L S
] L [£9°ZE9TMA E9T TSE+51OX - S o
] ] _ : - : .
W o7 — T 0007 965 €0 A VETBYEFGIOX| 00 L8 | 0L 8rl=v 3 P v
. . e . N
T ’ o5re obs2€9 | 06699 v = 8TT'THE .3
. o _ A5 ) - O
ST/ , ez S8v'/€9 | S€6'9€9 IbLZV 3 92T'95€ £
. . S . L
e f 374 620'/89 | 6/8'9€9 bV = TET'0EE . S
. . _ v . = <
4T ’ Y& €r£7789 | £28'9€9 e S LETHTE S
. . S . o)
05T — toEre £1e2g9 | 2927959 bV % ObT'8TE .8
. ’ b 9Tse9 | 212969 Th1zv 2 T TIE mlmK/_I
S b
5T ’ tecoz 907'£€9 | 959'9€9 WV = E1roE | g T
¢ Q 152 = X
H - [te) oM .
. - 051269 | 009959 ObLZY . 1008 |44 818 |S—tc
gl UL 8ZI'/E9 | 85969 0bV 134 et || g3 | N
e 3ore 90T'/€9 | 955959 obv Tey'S6e ECh
H o~ 5
p &
i
19T o7 £96'9€9 | E£T#'9€9 1€2 000°08Z
g
] S
. ~
S 59T FoeTT 100959 | 1zTos9 0€2 000°092
83 : 3
n ¥ S “
Beo A poore -
Trd i 259'9£9:"hA /9b'5HTS:0X
189959 | /807959 ez 000°52
& V 0SS T £€9:989:MA 000°5b25:0X
b : 7€9°9€9: A £€G PTG OX 2
[}
H . - . ®
ST o0z 26v'989 | 7¥6'S€9 6eL T08°2€7 o
nn o~
[=]
[°e]
N kel
— —|o
. 2le
ST Vi 082°959 | 0£L'5€9 £7z 000'STZ
g : .
) O
AN H — o
Bse 660:9€9: A £££°6615:0X T o
Il e} . . .
oha a/\ 3vST 8607 £09g9.ma| 9801989 [ 9gs's€9 6EV 6ss'86r [ V)
3 6\/ TEES6T+GOX .
€07'9€97"MA TE6'06TS:OX p
T |07 bbTog9 | +69°5€9 e 000°081
o«
4 N
o
. - - : R
3 B A Lros9 | 16859 8ELZV L1€791 5
H o
(321
s
SvsT | o607 2€9'989 | 780°9€9 1844 000°0ST
H oN
8 RI§
H m S
H ) Al
A% B R4 068'959 | 0vE9g9 oze . 000°0€T
@
T B 180289 | /86°959 8Ev 6£9'8TT
. 3
s
- o
o
E i
- T 8/T1€9 | 8217959 612 000001 |+
Sa o i
© S5 i %
Mo 2 \V4 €6EZE9TMA ETT T60+G:OX -
rTe €251 £L0°C
ted/ @ £ 614'/89 | 698'9€9 81z 000's8
] G 90t°'££9:"MA $80°€80+5:0X g
W © 2
JAN \ 8£7/£9: A 950°6£0+5:0X =
.... . ‘ac . eJ
oG 0T 1L12£9 | 129°9€9 8ev 196'2L 2
~ (o8]
™M
g B
| %
) o
-.- o~
T L YIw: 2ev'9g9 | 788'5€9 L1z 000°0S 2%
a2
g °
S
u.-. o~
e 807 88/'5€9 | s8geseg 91z 000°0€
3 3 -
S o S
BR3 R
TN S n T€TSEY MR TTL TT0+S:0X
Trel 3 W SGTGEOVMA D00 0T0+5-OX . e .
= N ST et GST'SE9 | S09'bE9 s1z 000°0T
W © 660°SEQ" A 6£C L00+5:0X =
= ©
o
. +
m (7o}
/v 5707 L08'v€9 | /STE9 b1z 000°066 e <
H o o
H o Q
8 g 5
& 5 &
] -9 5
o g a
2 LY IOl o 460 | 6r6°cco €1z 000°0£6 ° °
3 000°0£6+570X HXdV ’
© nFU\, =] Mv\ o
& £ S S
= 3 ©
-O > 0 ™
X o W (30}
© & o ©
g 9 x I
> [$) -
8 8 2
m < 6 >
>,
g 9
(e) = v
= g 3 =
w < Q w
(=] -0 > -0 D w
s g : : 2| 2
.o =)
> ,m. o 3 w m O w C
=] o o (@]
oe S o > [t v - - w 3
. - o] O 2 S -5 > - o
=g [ o 3 Q 3 ) a X X
oz s | 3|8 (3| B | ¢ 3 &
=k g | 8|8 |8| & | 5 |g2| &
= o ) 3
< = 32 2 o o o O — — m < 3
=3 g 3 Q Q Q C ) ) el IR ®) o
>3 £ 3 [ = [ S s |5l = a
e 3 5 w w w o] 2 >
= S g o 3 3 3 3 B B 2| = 3
M e S © -O -O -O (@] -0 -0 =2 b D
Z = 2 > > > 2 = c =S = =
=< S < > > > ©) < < |X| ¥ |



litsa
ΓΙΑΓΚΟΖΟΓΛΟΥ


		2021-01-14T09:02:31+0200
	ΑΚΡΙΒΕΣ ΑΝΤΙΓΡΑΦΟ




